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1. %A A 513 (row operation), BF#&4a
x+y+z=6,x—~y—-z=2,3x+2y+z=4. (10%)
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2. ég\—-ﬁr&%_[_s 4].

()R REM 4 eyt (eigenvalues) 84541 & & (eigenvectors). (10%)
MFEHA @R, £4°. (10%)

3. &9*@%%?=%xf+y}'+zi, EYp=xt+yi+2t, BEkcewlF. (10%)

4.3 S={yly" 3y"+2y 0} B F 4 y"-3y"+2y' =0/ & B AHES.
(B)RES 5 AN THR &% & 2 M (vector space). (6%)

(D)% {(1,¢',e”} B (linearly independent) B.S ¥4z & — &

YET R Le ¥ RETF, B y=c +ce +c,e”,c,6,,¢, BT, (14%)
5. ST 7l — PERLA F £2.

dy x-y +ysinx
(a)dx ———Qxy+m , y(0)y=2 (10%)

M xy'-y=x*sinx, y(@)=—r (10%)

8. %A A o8 (separation of variables) F 82T o M. (20%)
ou_0u
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%(0,:)‘:%(7:,:):0, 20

O<x<mt>0

u(x,0)=cos(x), 0<x<n
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